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QUESTION 1

100% Real QandAs | 100% Real Pass 

Which statement is true about the patching features provided in Platinum Services? 

A. Patching services are available for the full software stack up to twice per year. 

B. Patching support includes Exadata, Exalogic, and Database Appliance. 

C. Rolling window and complete down time approaches are two options to patching. 

D. Platinum covers Exadata storage software and firmware patching, but the customer must perform database
patching. 

Correct Answer: D 

 

QUESTION 2

Consider the following software changes that are performed manually on a Linux server: 

1.

 Changes for Linux kernel firewall configuration 

2.

 Changes for custom performance monitoring tools 

3.

 Changes for security scan tools 

4.

 Changes for Linux system performance optimization 

Which of the software changes listed are permitted on Exadata Storage Servers? 

A. 1, 2, 3, and 4 

B. only 3 \\' 

C. none 

D. only 2 

E. only 1 and 2 

F. only 2 and 3 100% Real QandAs | 100% Real Pass 

Correct Answer: E 
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QUESTION 3

In looking to improve query performance for your Data Warehouse, select the best way that Exadata\\'s Flash Cache
feature can be leveraged? 

A. Enable Smart Flash Log. 

B. Execute alter table ... cell_flash_cache=keep on heavily scanned tables. 

C. Enable Write Back Flash Cache. 

D. Create an ASM diskgroup on Flash Cache and move the indexes from disk to Flash. 

Correct Answer: B 

 

QUESTION 4

Storage indexes are unique to the Exadata Database Machine and their primary goal is to reduce the amount of I/O
required to service I/O requests for Exadata Smart Scan. Put the following steps in order: 

1.

 The Exadata cell services software conducts I/O requests on I MO storage regions. 

2.

 cellsrv checks the high and low values, and determines the storage region does not contain any values meeting the
predicate. 

3.

 The database is started. 

4.

 Physical I/O to the region is bypassed if the query selection falls outside the high/low storage index storage. 

5.

 A query is issued against the MYOBJ_CTRL table that has a predicate OBJECT_ID=1500. 

6.

 A subsequent query is Issued against the MYOBJ_CTRL table that has a predicate OBJECT_ID=2234. 

7.

 MYOBJ_STATE\\'S region index is populated with high and low values for the OBJECT_ID column during the I/O
request. 

A. 3. 7, 5, 2, 1, 6, and 4 

B. 3, 7, 1, 5, 6, 2, and 4 
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C. 3, 6, 1. 7, 2, 5 and 4 

D. 3, 5, 1, 7, 6, 2. and 4 

Correct Answer: D 

 

QUESTION 5

When using IORM, which statement accurately describes when redo log file writes take place? 

A. Based on the priority of the user 

B. Immediately 

C. Based on the resource group of the user 

D. Based on the intradatabase resource plan 

Correct Answer: B 

100% Real QandAs | 100% Real Pass 
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